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1301 | a? + ke +2=0
— k Ak —4EN2) v substitution into quadratic
2k formula
—k kT -8k
= 5 v answer
2k @
1.3.2 | k* -8k <0 vokT =8k <0
klk—8)<0 ¥ factors
i R v answer (3)
[21)
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21 |
|
L
32 |
L
_(3x2)F x(3x2 )b
= v' writing as prime bases
@
lre By
3% %27 w3
- ¥ simplification using laws
| q_a:“ " v simplification using laws
=32z
=12 v answer
NOTE: If a calculator is used,
| then NO marks will be awarded.
| 4
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2,2 IIED
¥ determining square roots
¥ factorising denominator
v answer
(4)
OR OR
_ch_m gty ‘ﬂow.;&
B A0 v writing numerator as ¥10™" /10
L0 ¢ o' =1 v factorizing denominator
= F v simplification
107 -1
= or 0,10 ¥ answer
99 4)
(81 |
QUESTION 3
The length of the side of the clock is x
. . 16— l6—
.. the length of each corner cut out is |9|a.\x v 3 =
wom\'ﬁ + _Iowmh =x? [Theorem of Pythagoras] ¥ equation
256 —32x+x° +mmoiwma+a. o ot ¥ simplification
4 4
512 —64x+25" = 4x°
2 +64x =512 =0 v standard form
X +32x-256=0
e —bt+b* —dac
- 2a
—32£4/(32) —4(1)(-256) o .
x= 71 ¥ substitution into quadratic
. ) formula
X =0,63 v x#—38,03 ¥ both values of x
the length of the side of the clock is 6,63 cm v’ answer
171
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5.3.1 ‘w\HDnR.T .ﬂ.vunfnw
y=a(x-2)"-3

-5=a(0-2)" -3
—-2=4a

a=——

2
<|1k73”|u
P M =

‘gu;wﬁffiz

v substitution of turning point, A
v substitution of point B

v value of «

v substitution of «

v simplification

¥ HIHHH +2x-35
2
(5)
532 | k<=3 ¥ answer

(2)

§3.3 | @242 v x-coordinate

v’ y—coordinate
(2)
125]

8 :
2k 2 For x-intercept,
For y-mtercept, - I
. substitute y = 0:
substitute x=0: 6
=0 5 = i 2
B e OR xH2 ¥ substitution
6
=0 =2
x+3
x+3=3
x=0 v answer
| The graph therefore goes through the origin: (0 ; 0)
m v
/
r=-3 v horizontal asymptote: v =2
_ v vertical asymplote: x = -3
y=2 \.\\l\\v ¥ passing through the origin
: X
(0:0) v shape
i
(6)
512 |[m=1 v answer ()
521 | ¥>0 v answer
OR OR
ve (0;w) v answer (1)
522 ; -
2 @ v substitution
4
a= 2 v answer
2 (2)
523 £a TS
J % o
, .v.H_ My v change sign of x
, L)
5 H_. W/i_ v answer
T3 (2)
524 ( ] ; —_
T ) ¥ coordinates of B
i 4)
Co: 1 v coordinates of C
| 2 L 1
T wccoe— N
Average gradient 2.0 v substitution into average
5 gradient formula
W = iw v’ answer 4
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